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Topic : Kinematics, Laws of Motion and Friction

What is nature of acceleration betweent = 18 s
to t =20 s in below diagram

x(m)

2 4 6 81012 14161820 22 t(sec)
(1) Positive (2) Negative

(3) Zero (4) None of these

A ball is dropped from a building of height 45m.
Simultaneously another ball is thrown up with a
speed of 40 m/s. Calculate the magnitude of relative
velocity of the balls when both balls are in air :

(1) Om/s (2) 20m/s (3) 40 m/s (4) 60 m/s
Which of the following statement is correct -

(1) Direction of velocity at any point on path

is tangential to the path

(2) Direction of average velocity is along

direction of motion during that interval

(3) Direction of motion is always along direction

of acceleration
(4) A particle may undergo 2-dimensional motion even
ifacceleration & velocity remain in same direction
A body moving along a straight line travels one fourth
of the total distance with a speed of 3.0 ms™. The
remaining distance is covered with a speed of 4.0 ms™
for half the time and 5.0 ms™ for the other half of the

time. The average speed during the motion is :
(1) 4.0ms™’ (2) 6.0ms™’

(3) 3.8ms™ (4) 2.4ms™

fRamAt=18s Tt =20 s & si= a0 HI

x(m)

> 4 6 8 10121416 1820 22 t(sec)
(1) oFTeHa (2) FEUITH
3) A (4) TTH YRS T

45m = THRG ¥ T i ! TR mem S g9
Teh GO 175 o1 UL 3T 3T 40 m/s o =TT ¥ Thehl
TN TeT ShT FTUET ST S UIHTT JTd Rl S
HEIRICEC IR

(1) Om/s (2) 20m/s (3) 40 m/s (4) 60 m/s
fedasam s aa? -

(1) ot foreg o ot o o sh fawmm oer o e
T 2t 2

(2) Tordll TmERT=aUS § T o 3ftEq AT & e
o7 ot Tfe Y fewm & 2t )

(3) ifer <t e ceror i fawm o atfeT At 21

(4) =t Tgferdier i < wehar &, coor & A JHE
foem & g9 wx o)

Th BT W@l H =t g8 e %ol gl bt Th-sig

W3.Oms’13ﬁwﬁﬁ'€{${?ﬁ%|ﬁ§'§aﬁ‘oﬁ%

SR T Jrelt J o o ST @ veet enariaue

4.0 ms! WE@WEB\T 5.0 ms™ & T

T 7 TR STTaT 81 39 I 8 31d <1er a1 -
(1) 40ms™! (2) 6.0ms’!

(3) 3.8ms™! (4) 2.4ms™



A police van moving on a highway with a speed of
30 km h™' fires a bullet at a thief's car speeding away
in the same direction with a speed of 192 km h™'. If
the muzzle speed of the bullet is 150 m s, with

what speed does the bullet hit the thief's car?
(1) 95ms" (2) 105ms

(3) 115ms™! (4) 125ms™!

A lift coming from 8" floor is just about to reach
4™ floor and stops on 4™ floor. Taking ground as
origin and taking upward direction as positive for

all quantities, which of following is correct?

(1) x<0,v<0,a<0 (2) x>0,v<0,a<0
3) x>0,v<0,a>0 (4) x>0,v>0,a<0
Two particles A and B are moving on a straight line with

the same speed. Which of the following statement is/are
correct for the relative motion of the two particles :

(1) The relative velocity v, Or v, is zero only

if they are moving in the same direction

(2) If the particles are moving in opposite direction,
the magnitude of vg, or v,p is twice than the
magnitude of velocity of A or that of B.

(3) The relative velocity v, or v, is always zero
(4) Both (1) and (2)

A man is walking on a road with velocity
10 km/h. Suddenly rain starts falling. The
velocity of rain is 3 km/h in vertically
downward direction. The speed of rain with

respect to man is :-
(1) +/7km/hr
(3) 13 km/hr

(2) /13 km/hr
(4) /109 km/hr

T qfT8-a9 30 km h™! 31 =TeT § 8T8l WX =t
2, 3 TH 192 km h' & T} g5 91 A FX W
et gETdt 81 AfS WAt S 150 m s R A,

et fohd ST & < 3t IR T Tl -
(1) 95ms! (2) 105ms™’
(3) 115ms™ (4) 125ms™

g dff wivrer & &1 T wh ferve =iefl wforet W
T STt @ e =iteft HSTeT o wehedl 8 S R
uel ferrg dom S S foem i geTenes Ad g,
TTH 9 I |1 HE 2

(1) x<0,v<0,a<0 (2) x>0,v<0,a<0
3) x>0,v<0,a>0 (4) x>0,v>0,a<0

3 T A IUT B G @1 § 9 I § I W R

1 et & & T <t wmer Tifa & fore wt e

TR -

(1) WM& AT v, AT vy, A B, AR A7
g feem 9 =t

(2) afe ot faodia fommm & =et, df vy, 31967 v,
ST GRATIT A & o7 o GRETOT 37ET B & 9T
o TfETOT T ST BT

(3) WU ST v, STHAT v, THT I T

(4) (1) (2) I

Ueh 3TeH! STHIT 98 10 km/h % o7 ¥ 78 @I &
3T =T ST Y& €1 STt 21 STier o1 o
3 km/h HeEigT = hl OF & d ST @&
JATeH} % GTYeT STl T 7 © ;-

(1) +/7km/hr
(3) 13 km/hr

(2) /13 km/hr
(4) /109 km/hr



10.

Which of the following statements are true ?

(A) For applying the second law of motion,
there is no conceptual distinction between
inanimate and animate objects

(B) In merry-go-round, all parts of body are
subject to an inward force and the direction of
impending motion is inwards too.

(C) During the action of impulsive force there is
no appreciable change in momentum of body.
(D) During the action of impulsive force there is

no appreciable change in the position of body.
(1) A,B,C,D (2) B,C,D
(3) A,D (4) A,B,D

Consider three cases in equilibrium :-

TTITITTTTTTTITZ

4kg

60K 4kg 60 Kg

. 4kg

® (i) (iii)
A man of mass 60 kg is holding the string
connected to block of mass 4kg as shown. Then

the incorrect statement is :-

(1) Normal reaction will be maximum on man

in first case
(2) Normal reaction will be least in third case.

(3) Tension in the string held by man is least

in third case

(4) Tension in string held by man is maximum

in second case.

10.
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(1) A,B,C,D (2) B,C,D
(3) A,D (4) A,B,D

grgrerea shi e i feerfaan & fog -

(@) e G (i)
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11.

12.

13.

14.

15.

At which point in the given graph, magnitude

of rate of change of momentum is maximum.

() A

() B

3) C (4) D

A box is placed on the surface of a truck. When
the truck accelerates in the forward direction,
then the direction of force of friction on lower

surface of the box due to surface of the truck is :-
(1) Inbackward direction (2) In forward direction
(3) Inupward direction (4) Indownward direction

A particle is moving with a constant speed along

a straight line path. A force is not required to:
(1) increase its speed

(2) decrease its momentum

(3) change the direction

(4) keep it moving with uniform velocity

Which of the following cases the net force acting
on the body is not zero ?

(1) A drop of rain falling down with a constant speed
(2) A cork ofmass 10 g floating on the surface of water.

(3) A car moving with a constant speed of
20 km h™! on a rough road.

(4) A pebble of mass 0.05 kg is thrown vertically

upwards.

A bullet of mass 40 g moving with a speed of 90 ms™
enters a heavy wooden block and is stopped after a

distance of 60 cm. The average resistive force exerted
by the block on the bullet is :-

(1) 180N (2) 220N (3) 270N (4) 320N

11.

12.

13.

14.

15.
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(1) 180N (2) 220N (3) 270N (4) 320N




Topic : Chemical Equilibrium, Ionic Equilibrium, Thermodynamics & Chemical Energetics

16.

17.

18.

19.

20.

If the bond energies of H-H, Br—Br and H-Br
are 433, 192 and 364 kJ mol ™' respectively, the

AH® for the reaction, H,, + Bry, — 2HBr,
is:
(1) +261KkJ (2) -103 kJ

(3) —261kJ (4) +103 kJ

200 cm® of 0.1M H,SO, is mixed with 150 cm®

of 0.2M KOH. Find the value of evolved heat.

(1) 1.7KJ (2) 2.7KJ

(3) 9.2KJ 4) 32KJ
The vaporisation process is always :-
(1) Exothermic

(2) Endothermic

(3) Can be exothermic or endothermic

(4) None of these

The work done during the expansion of a gas
from 4 dm® to 6 dm® against a constant external

pressure of 3 atm is (1 L atm = 101.32J) :-
(1 617 (2) —6081]

(3) +304 ] (4) 3047

Standard entropy of X,, Y, and XY are 60, 40

and 50 JK 'mol ™. For the reaction,
1

EXZ + %YQ — XY; ; If AH=-30Kk]J,

to be at equilibrium, the temperature will be :-

(1) 1250K (2) 500K

(3) 750K (4) 1000 K

16.

17.

18.

19.

20.

Ifd H-H, Br-Br a2 H-Br 5= sl &Sl HA:
433, 192 AT 364 kJ mol ™! & ar & Tt stfwrfsran
Hz(g) + Brz(g) — 2HBr(g) a'? ‘%‘I—a’ AHO <hl HIH a-l_d-

(1) +261kJ (2) ~103KkJ

(3) —261kJ (4) +103 kJ

S 200 cm®, 0.1M H,SO, o faetas =l 150 cm?’,
0.2M KOH foerm & &1y et Sar 21 3a=
ST T {1 ST

(1) 1.7KJ (2) 2.7KIJ
(3) 9.2KJ (4) 3.2KJ
ITSHIHTT T5hH FHS BT & -

(1) Sarerdt

(2) SeATSISY

(3) SEHTEIT AT SEATIIST B Tl 2
(4) TTH T HE T

3 atm @ 499 SRR & fowg 4 dm® ¥ 6 dm?
Toh foret e 3 TR 36 QXU foram mam sl s 22

(1L atm=101.321):-
(1) 67 (2) —608J

(3) +304 1] (4) 3047

X,, Y, QT XY, 3T Ak T2rd} o T SEST: 60,

40 AT 50 JK 'mol ' &, 3tfsrfsram,

1 3
—X,5 + EY2 — XY; e AH=-30kJ,

2

o foTw |m=g o 19 g -

(1) 1250K (2) 500K
(3) 750 K (4) 1000 K



21.

22.

23.

24.

For a gaseous reaction,

A T 3B = 3Cq + 3D,

AE is 17 Kcal at 27°C, R =2 cal K! mol ™, the
value of AH for the above reaction is :-

(1) 15.8 Kcal (2) 18.2 Kcal

(3) 20.0 Kcal (4) 16.4 Kcal

Choose extensive properties from the following :
(1) density (i1) specific volume
(ii1) Heat capacity  (iv) mole

(v) concentration  (vi) volume

(1) i, ii, iv, v ) i, vi, iii, iv

(3) iii, iv, vi (4) 1i,iii, v, vi

For the reaction Cl,,= 2Cl,), the formation of
Clg is favoured at :-

(1) high temperature and low pressure
(2) high temperature and high pressure
(3) low temperature and high pressure

(4) low temperature and low pressure

A quantity of PCl; was heated in a vessel at
250°C; PCls= PCly,, + Cly,. At equilibrium
the vessel contains 0.1 mole of PCls, 0.20 mole of
PCl; and 0.2 mole of CL,. If total pressure is 2 atm

then equilibrium constant K, of the reaction is :-

(1) 0.02 (2) 0.8 (3) 0.04 (4) 1.6

21.

22.

23.

24.

T T AT A, + 3B, — 3C, + 3D, &
fAT 27°C AT IR AE 17 Kcal ®

(R=2cal K" mol™) STIE AT & fow AH
FTHE -

(1) 15.8 Kcal (2) 18.2 Kcal

(3) 20.0 Kcal (4) 16.4 Kcal

Tt 3 fereetiof wqorerd st e -

(i) Ted (ii) faf3re e
(iii) ST EMfET  (iv) "I

(v) |T==aT (vi) ST

(1) i,ii, iv, v () i, vi, iii, iv

(3) iii, iv, vi (4) 1i,1ii, v, vi

HMBRAT Cly,= 2Cl,, % T Cl, 1 a0
(1) Afre a9 3T %7 g

(2) AT AT IR ATk g

(3) T Y 3R 37k g

(4) W AT IR FHA ST

PCl, ¥ Tah UTAT &1 Uk U § 250°C; W TTH hleh
"R PCly= PCly, + Cly, S foar mm
A 9T S 0.1 Hid PClg, 0.20 Wi PCL, aem
0.2 WA Cl, 39T 9| (S FT a1 2 atm 8 AT
Ao it | el K ® -

(1) 0.02 (2) 0.8

(3) 0.04 (4) 1.6




25.

26.

27.

28.

29.

30.

Dr —Dy

The relation o = m is correctly matched for :-
- 0
B C
D A=+ 50
B 2
@A) = F(@+FC @

() Afe) = 5B (@) +7C(2)

@ Al=3B@+C(@

50 ml of 2 N acetic acid is mixed with 10 ml of 1N
sodium acetate solution. The solution will have an
approximate pH of :- (If K,(CH;COOH) = 10)
(1) 4 2) 5 (3) 6 4 7

The value of the ionic product constant for water,
(K,,) at 60°C is 9.6 x 107'* M*. What is the [H;0"]
of a neutral aqueous solution at 60°C and nature

of an aqueous solution with a pH = 7.0 at 60°C :-

(1) 3.1x10°% acidic (2) 3.1 x 1077, neutral
(3) 3.1x10°% basic (4) 3.1 x 107, basic

The highest pH value is of :-
(1) 0.1 M NacCl (2) 0.1 M NH,CI

(3) 0.1 M CH;COONa(4) 0. M CH,COONH,

For exothermic reaction, if we change temperature
from 70°C to 40°C then K will :-

(1) Increases (2) Decreases
(3) Remains constant (4) Could not determine

The best indicator for the detection of end point

in titration of a weak acid and a strong base is :-

(1) Methyl orange (3.1 to 4.4)
(2) Methyl red (4.2 to 6.3)
(3) Bromothymol blue (6 to 7.6)

(4) Phenolphthalein (8.2 to 10)

25.

26.

27.

28.

29.

30.

B T L e ot et et

(1’1— 1)D0
D A= %(g) + %(g)
@ Afg) = Bg)+ 2 (g

() Afe)= 3B (@)+5C(2)

@ Al®=3B@+C (@

50 ml, 2 N TfHfee 3r &l 10 ml, IN @fgaq
ufiree § fire W uT faeee it @ pH Enfl|
(@fe K ,(CH,COOH) = 107) ? :-
(1) 4 (2) 5 (3) 6 4) 7

60°C T A % AAMHH T (K,,) FT A=
9.6 x 107 M? Bl 60°C W IS efta
faera & faTT [H,07] 1 719 )41 € 991 60°C
T pH = 7.0 ATt foreraa it gepfa el € -

(1) 3.1 x107%, 3T (2) 3.1 x 107, 3™
(3) 3.1x10°%, & (4) 3.1 x 107, &
Afrhdd pH FTAF R -

(1) 0.1 M NaCl (2) 0.1 M NH,CI

(3) 0.1 M CH;COONa(4) 0.1 M CH,COONH,

I e} Affsran o 919 70°C & 40°C uiEfda
L AT K THM -

(1) s&m (2) =M

(3) Remwm (4) T T2 "ehd

elct FFA T Tele IR o SFFATI | 31 foreg
T g o ToTT HaToIh T © -

(1) AfereT S (3.1 ¥ 4.4)

(2) AR (42T 6.3)

(3) SHIATEHIA ¢ (6 9 7.6)

(4) TraieudefT (8.2 9 10)



Topic : Structural Organisation In Animals, Animal Kingdom, Cockroach, Earthworm, Frog

31.

32.

33.

34.

Select the incorrect matching in the given options :-

(1) Asexual reproduction in sponges —Fragmentation
(2) Medusa — Adamsia
(3) Exclusively marine — Ctenophora

(4) Flame cells — Platyhelminthes

The Brain is represented by which structure in

cockroach ?

(1) Supra pharyngeal ganglion
(2) Supra Oesophageal ganglion
(3) Sub oesophageal ganglion

(4) Circum pharyngeal ganglion

In frog Bidder's canal is found in :-

(1) Testis

(2) Ovary

(3) Kidney

(4) Liver

Main function of cilia is :-

(1) Secretion

(2) Absorption

(3) Move particle in specific direction

(4) Increase in surface area

31.

32.

33.

34.

fau e forereai § stocy firet 1 <o &Y -
(1) wist & o7cifires 5 — forgue

(2) wrgwr - venfRn

(3) quid: st - SR

(4) SaTe hIfTE — weigeHifs

iR § Afedseh T fohe @temT g wefia fora
ST & 2

(1) sz o

(2) fer et ieseht

(3) LA o

(4) drerET it

e Tt T ATt firet AT Fufer B 2
(1) Fword

(2) emEH

(3) FFFH

(4) FFaH

TEHT T & 1 81 2 -

(1) =T
(2) ITERIEOT

(3) VTt =l Weh fAfEra foem & & S
(4) AT SABS T TGHT



35.

36.

37.

38.

39.

Choose the correct option about given table

Cyclostomata Chondrichthyes | Osteichthyes
Sucking Terminal
€)) Ventral mouth
mouth mouth
@) Scales Cycloid/Ctenoid | Placoid
absent scales scales
] ) | 4-pair gills
6-15 pair of | 5-7 pair gills
3| . ] without
gills with operculum
operculum
(4) | Ectoparasite | Scavanger Predaceous

Which statement is correct regarding cockroach ?
(1) Ventral nerve cord is present

(2) Spiracles help in excretion of uric acid

(3) Phallomere is present in female cockroach
(4) Compound eye is also called ocellus

Choose the respiratory organs that are not

present in phylum-arthropoda :-
(1) Tracheal system (2) Gills

(3) Water vascular system(4) Book lungs

In earthworm, fertilisation and development occurs within
(1) Cocoons

(2) Soil

(3) Clitellum

(4) Spermatheca

Head, foot and visceral hump this combination

of characters is found in :-
(1) Camel (2) Elephant

(3) Peripatus (4) Pila

35.

36.

37.

38.

39.
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40.

41.

42.

Match the followings and choose the correct

option :-
A. Adipose tissue 1. Nose
B. | Stratified epithelium | ii. Blood
C. Hyaline cartilage iii. Skin
D. | Fluid connective tissue | iv. | Fat storage

Option :

(1) | A-i | B-ii | C-iii | D-iv

@) | A-iv | B-iii | C-i | D-ii
(3) | A-iii | B-i | C-iv | D-ii
(4) | A-ii | B-i | C-iv | D-iii

Given below is a diagram of closed circulatory
system of earthworm :

Identify lateral oesophageal heart :

(D @ C (3) A

4 B

The long bones are hollow with air cavities is
the characteristic feature of :-

(1) Reptiles
(2) Aves (Birds)
(3) Both (1) and (2)

(4) Mammals

40.

41.

42.

Tt =ht gfeTe st Wit fershed a1 =12 Al -
A | TEUS SHE i. EIED
B.|  SIcehl Uk ii. R
C.| HeEm™3wRT | iii. CEl
D.| TAEASTSah | iv. | 9T EHRT
forhea

(1) | A-i | B-ii | C-iii | D-iv

(2) | A-iv | B-iii | C-i | D-ii

(3) | A-iii | B-i | C-iv | D-ii

(4) | A-ii | B-i | C-iv | D-iii

el e T i fe=roT o o e T @ -

(B)
Uk ot o ure Tl g 1 gE=ne -

(h b @ C G A 4B

Tt Aot WhRael U AR IE Sl 2 AT
AT -

(1) &gy

(2) T (vafh)
(3) (1)@ (2) &Mt
(4) T




43.

44.

45.

Ommatidia serves the purpose of photoreception :-
(1) In cockroach (2) Frog
(3) Human (4) Earthworm

Which of the following statements is incorrect ?

(1) Cartilage and bone both are structural tissue
(2) Blood is a fluid tissue with transport functions

(3) Areolar tissue is main reservoir of stored energy

(4) Muscle tissue, which becomes contracts in
response to stimulation

How many of given are associated with simple

squamous epithelium?

walls of blood vessels, airsacs of lungs, PCT,

innerlining of ducts of salivary glands.

(1) 2
(3) 4

2) 3
4) 1

43.

44.

45.

TR TehTST UTEY T h1dl fohed ohid ® :-

(1) Frw= (2) HewH
(3) AT (4) FECH
frefaritaa & 9 Simar Hu Taa @ 2

(1) ATy wd 3uTfke ST Ueh & & TLEHTCHS
T eI B

(2) &R TH T ek 2 e sl afeeT R

(3) AT (TicihT) ik Hsil I H&T T H
Gferd s T T AT R

(4) Ut Sk ST forell ST TX STfoRaT

FAETEY He(d BT 2

o ™ 9 9 fora ot Tl IUSRAT e §
Hefra 8 2
T ATfeAT 1 19T, arg ST (FST ) PCT,

AR Tfort it ity TR
(1) 2 ) 3
(3) 4 4) 1
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(HINT - SHEET)

Ans (3)
For the ball dropped from building

u =0

vi=u —gt

v, =—gt

for the ball thrown up, u, =40 m/s
V2= — gt
=40-gt
Relative velocity of one ball w.r.t. to other

=Vi—V,

=—gt—(40—gt)

=-40 m/s
When we apply equations of rectilinear motion we
must carefully apply sign on physical quantities.
Ans (1)
1. Option is correct
2. Option is wrong value of average velocity in
a given interval of time is a single value but
instantaneous values of velocities between the
same interval can be different.
3. Option is wrong, in retardation direction of
motion and acceleration are different.
4. Option is wrong, if velocity and acceleration
remain in same direction the motion of particle

is a straight line.

Ans (1)

R s »

® O e O ©)
—s4—n ¢
vi=3.0ms'  v,=4.0ms'  v;=5.0ms"’

From B to D average speed

Here v, is between B to C and v; is between C to D

r V2+V3V/_ V2+V3V'_ V2 +V3 _
N 2 - 2 N 2
4+544+5445
v:4‘ —1
> 3 5 \% 5ms

For A to D average speed is v".

v, is between A to B

and v' is average speed between B to D so

. 5 5 5
5/4  35/4 5/4  35/4 5/4  35/4
Wt Wt

) 4 4 4

V=T 3 1 3 1 3
why Wty Wty

) 4 4 4

V=T 31 31 3
stz st 373

Vv'=4.0ms"
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Ans (2)

Speed of police van, vp = 30 km/h = 8.33 m/s
Muzzle speed of the bullet, v, = 150 m/s

Speed of the thief's car, v, = 192 km/h = 53.33 m/s
The bullet is fired from moving van, therefore
resultant speed can be obtain as :

150 + 8.33 = 158.33 m/s

Both the vehicles are moving in the same
direction. So, velocity with which the bullet hits
the thief's car is

Vi = Vb = Vi

=158.33-53.33

=105 m/s

Ans (3)

- As lift is coming in downward direction, its
position is above the ground.

- Lift reaches 4th floor and is about to stop hence
motion is retarding in nature, v < 0 so a > 0

acceleration act in upward direction.

- Velocity is in downward direction, so v < 0.
Ans (4)

Given, |[v,| = |vg]

Vag = Vp — Vo = 0 = v, (same direction)
Case-I1 : \7A = —\73 (opposite direction)
\7AB =-2 \73

Vial=2 [Vp| =2[Val

Ans (4)

Given- Vi = 10] Vg = —3]

Vim = VR — Vi = =3 — 10i

[Vrm | = v/IF 100 = /109 km/hr

Ans (3)

dp
A) F = — for a system
(A) " y

(B) In merry go round body experiences outward
force.

(C) Large impulsive force can change momentum
significantly.

(D) Impulsive force acts for very short interval so

position doesn't change significantly.

10.

11.

12.

13.

14.

Ans (2)
TN 2T

) (H)T N TTN

60 g 160 g 160
OHN=60g () N=60g—2x40 (I N=60g—20=580N

T
_ 1
(1)T=40 () ‘ T (IH)TLI&;l,Tl

—

2
(Im

1
T =2T T =T/
1
T = 80N T'= 20N
Ans (3)
2 dx dt
dk - 2Vd—V at C acute angle is minimum
dx 2 dx
% =ma=F
dx
Ans (2)

Pseudo force on block acts in backward
direction. Therefore direction of friction force

on the box in forward direction.

L[

©® ©

ma €

Ans (4)
According to Newton's 1% law.

Ans (4)

As the rain drop is falling down with a constant
speed, its acceleration, a = 0. Hence, net force
on the drop = ma = 0.

As the cork is floating on the surface of water,
its weight is balanced by the upthrust. Hence,
net force on the cork is zero.

The force exerted by the engine is balanced by
the friction due to rough road, As the car is
moving with constant velocity, its acceleration a
= (0. hence, net force on the car F =ma = 0.
Whenever a body is thrown vertically upwards
gravitational pull of earth gives it a uniform
acceleration, a = g is downward direction.
Hence, net force on the pebble

=mg = 0.05 x 10 = 0.5 N vertically downwards.




15.

16.

17.

19.

20.

Ans (3)
Here,u=90ms', v=0

40
m=40g=mkg=0.04kg

s=60cm=0.6m
Using v —u*=2 as
= (0)* = (90)* =2a x 0.6

_ (%) 3
T T —6750ms
—ve sign shows the retardation.

~ The average resistive force exerted by block
on the bullet is

F=mxa=(0.04 kg) (6750 ms?) =270 N
Ans(2)

H(g) + Bry(g) — 2HBr(g)

AH° = ¥BEg - £BE,;

=BEy y t+ BEg, 5, — 2 BEy 5,

=433+ 192 -2 x 364 =625 -728

=—103 kJ

Ans(1)

H,80, + 2NaOH — Na,SO, +2H,0
200 % 0.1 x2, 150x0.2

= 40 m.eq. =30 m.eq.

(LR)
1000 m.eq. H,SO, = 57.1

57.1 x 30
30 m.cq. H2S04 = W = 17kJ

Ans (2)

Work in expansion = -PAV
W=-3x(6-4)=-6L atm
1L atm =101.32J

W=-6 x101.32=-607.92 J or 608 J

Ans (3)

1 3
AS—SO—E ><60—§ x 40
=_40 JK ! mol™

. 3
T:AH _ 30 x 10 _ 750K
AS —40

21.

23.

24.

25.

26.

27.

Ans (2)
An=(3+3)-(1+3)=2
AH = AE + An RT

~ 17000 +2 x 2 x 300

1000
=18200 = 18.2 Kcal

Ans(1)

Forward direction is endothermic i.e., AH = +ve,

favoured by high temperature.

also, Ang = +ve, favoured by low pressure
Ans (4)

Total moles=0.1+0.2+0.2=0.5

Partial pressure = mole fraction x P,

Ppci, . Pcy,
P=—F5
Ppcis

(3x2) (Ex))
(£x2)

Ans (2)

= 1.6

1 mole of gaseous reactant must give 'n' moles

of gaseous product.

3 3
Ans(1)
Acidic Buffer
[NV]Salt
pH = pKa + log ————
[NV]Acid
1 x10
—5+10g<2X50>
=4
Ans (4)

[H307] =1/9.6x 107" =3.1x 1077
= pH = 6.52
GivenpH =7

So, water will be basic.




28.

29.

Ans (3)
CH;COONa — Salt of weak acid and strong

base

Ans(1)

LSS FRR
K, 2303R [T, T»

if AH = —ve

then K will increase by decreasing

temperature.

32.

36.

38.

41.

Ans (2)

NCERT (XI) Pg 114, 111" para
Ans (1)

NCERT Pg. #112, 113,114
Ans(1)

NCERT XIth Pg. no. 110
Earthworm reproductive system
Ans (3)

NCERT XI* Pg. # 109
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